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1. When did Louis set a world record?
A. In 1990. B. In 1992. C. In 1999.
2. What time do the speakers plan to leave for dinner?
A. At five. B. At six. C. At seven.
3. When will the woman probably leave for Australia?
A. A week later. B. Two weeks later. C. Four weeks later.
4. When did the man see Jim?
A. At 3 o’clock. B. At 4 o’clock. C. At 5 o’clock.
5. How long was the bus journey?
A. Ten minutes. B. Thirteen minutes. C. Thirty minutes.
& =R 4B —

FE—T (G5 /NE BN 148,05 550
T &S BAE, RN EEA DA AT A AB.C ZABRR PR RAERA, F AR

EREGHELE, FEAEBENEE AHRA 10 4R kR LA X DA EET— 08, F&
EAIE—B
1. What does the man mean?

A. He will earn more money.

B. He will move to a new house.

C. He can’t afford a new house.
2. How did the man feel about the date?

A. Disappointed. B. Surprised. C. Exited.
3. What is the woman probably doing?

A. Looking for a job.

B. Practicing in a big company.

C. Trading with a famous company.
4, What is the man’s attitude?

A. He will cancel the appointment.

B. He would rather the woman came herself.

C. He will have someone else go to the appointment.

5. How long will the woman work every week?
A. 23 hours. B. 26 hours. C. 29 hours.
EZWEE 15 /NE /MR 1.5 53,05 22.5 70)
T E S BAERREG, BENEIREGEA AN K P AB.CEZAS®AFLRR
HER, FAFEREGMELEE, FHEEMNER RO AREA R EIAANE,FDHM5 B4 H 2
Jo s BN AR R S AP AE LT, BB ERIREG EHB,
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6. Where did the woman go for her summer holiday?
A. To Paris. B. To Haikou.

7. What does the man think of the 18th century poetry class?

A. Difficult. B. Popular.
Wi 7 Bedbkl &S 8 9 M,
8. How does the woman come to meet the man?
A. By car. B. On foot.
9. Why was the woman late getting off work today?
A. She didn’t finish her work before 6:00.
B. Her boss asked her to do some work.
C. She helped one of her colleagues.
Wrs 8 Bkl BIZSE 10 2 12 B,

10. How long will the man probably stay in the hotel?

A. One day. B. Two days.
11. Where is the man going?
A. To Seattle. B. To New York.

12. What kind of room does the man prefer?
A. A double room with a double bed.
B. A double room with twin beds.
C. A single room with a bath.

WrEs 9 Bekrpl, M5 13 2 16 &,

13. What are the two speakers probably doing?

A. Climbing the mountain. B. Walking down a river.

14. Why does the woman feel tired?

A. She feels a pain in her legs.

B. She started about two hours ago.

C. She didn’t get enough sleep last night.
15. How long will the two speakers stay out?

A. Three days. B. Two days.
16. What will the woman do?

A. Keep going. B. Get some water.

Wr %8 10 Bedtokl, IS 17 & 20 /3.,
17. What does the speaker probably do?
A. A guide. B. A doctor.
18. What’s the sign of poisoning?
A. Burns in the eyes.
B. A sudden feeling of weakness.
C. An unusual smell from the mouth.
19. Which of the following could the poison victims drink?
A. Milk. B. Coffee.
20. What can we learn from the text?
A. The poisoning rate has dropped in recent years.
B. Cleaning liquid is one cause of poisoning.

C. Most poisonings take place in the workplace.

C. To Hainan.

C. Boring.

C. By bus.

C. Three days.

C. To Washington.

C. Biking along a beach.

C. One day.

C. See a doctor.

C. A host.

C. Juice.
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1. How tall is the tree?

A. About six meters. B. About eight meters. C. About ten meters.
2. How much is the woman’s sweater?

A. $4.5 B. $5. C.$7.5
3. How many tickets does the woman need to buy?

A.7. B. 6. C.5.
4, How much will the man have to pay?

A. Ten dollars. B. Forty dollars. C. Sixty dollars.
5. How many hours does the man spend on training every week?

A. Two. B. Three. C. Six.

& =K A RABEMI 4% =

E—T L5 NI H/NE 153,50 5 5
TFE S BAE, BERNEEA /NN KB P LG A B.CEAMRAFRERERLR, A

ERXLGMPEILE, FRLHEENSEE HAEA 10 D4R kR SR X DA T — D8, ZF&T
EAIE—B
1. Which language is Jack good at?

A. Japanese. B. Italian. C. French.
2. Why is the woman leaving?

A. Because she wants to visit Andy.

B. Because she wants to travel in Paris.

C. Because she wants to change her job.

3. How does the woman feel about the man’s excuse?

A. Annoyed. B. Surprised. C. Satisfied.
4, What will the man do tonight?
A. Watch a movie. B. Go out for dinner. C. Wash his car.

5. Where are the two speakers probably having their conversation?
A. In their office. B. At a cinema. C. In their home.
F (15 /NEE/NVE 1.5 4,4 22.5 49)

TT @S BAFiEREE, FERAERRAEANUA DA RAFHLEH AB.CEARAFEER
HER,FHREREOAELE, THEENERXRBRGWAREANREZENDNE,E0ES 477
B B AR R S AL, RN EREGEHE,

Wrsg 6 Bedr okl m2&5 6 2 7/,

6. What’s wrong with the car?
A. It makes strange noises sometimes.
B. It leaks oil from time to time.
C. The door locks don’t work well.

RERXNW - 116 - <4 >
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7. What is the man?

A. A salesman.
WrEE 7 Bk, BIASE 8 £ 10 M,

8. What does the company want?

B. A repairman.

A. An advertiser. B. A translator.
9. What does the position require?
A. A low expectation of pay.
B. Rich work experience.
C. An energetic and passionate attitude.
10. What does the man think of the job?
A. He is not interested at all.
B. He thinks it is worth closer attention.
C. He is not confident of getting it.
Wr s 8 Bebbkl, M58 11 2 13 /&,
11. What’s the relationship between the two speakers?
B. Friends.
12. What grade is the man’s daughter in?
A. Grade 9. B. Grade 10.

13. How does the man communicate with his children’s teachers?

A. Teacher and parent.

A. They meet once a month.
B. They often talk online.
C. They talk over the phone once a month.
WrEs 9 Bekrwl, M5 14 2 17 &,
14. When will the two speakers leave for the beach?
A. On July 19th. B. On July 20th.
15. What does the woman advise the man to take?
A. Sunglasses. B. Sunscreen.
16. How long will they stay at their destination?
A. Two days. B. A week.
17. What does the woman think of the man’s blue jacket?
A. It looks great.
Wr s 10 Bedh okl &5 18 2 20 /4,

18. What can we know about today’s world?

B. It is popular.

A. Children are too busy with their schoolwork.
B. There is too much unhealthy food.
C. Parents have difficulty communicating with children.
19. How does health information on the Internet influence parents?
A. Tt makes them feel stressed.
B. They get professional information.
C. They can save more money when buying things.

20. How many areas does the speaker suggest parents pay attention to?
A. Three. B. Four.

C. A cleaning man.

C. A sales manager.

C. Strangers.

C. Grade 12.

C. On July 29th.

C. An umbrella.

C. Twenty days.

C. It is expensive.

C. Five.
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1. How did the woman get to Miami?

A. By bus. B. By train. C. By air.
2. How does the woman go back home today?
A. By bus. B. By car. C. By underground.

3. How did the accident happen?
A. A bus knocked down the woman.
B. A bus crashed into another bus.
C. The woman failed to stop her car.

4. How will the speakers get to the airport?

A. By bus. B. By taxi. C. By train.
5. How will the speakers probably travel to the Smith Street stop?
A. On foot. B. By bus. C. By train.

EL X ¥ T ¥

FE—T (G5 /NE BN 148,05 550
T &S BAE, RN EEA DA AT A AB.C ZABRR PR RAERA, F AR

ERXLGMPEILE, FRLHEENSEE HAEA 10 D4R kR SR X DA T — D8, ZF&T
HEAE— 8,
1. What will the woman do tonight?

A. Go to see a movie.

B. Have dinner with the man.

C. Have dinner with her colleagues.
2. Where does the conversation probably take place?

A. In a hospital. B. In a school. C. In a hotel.
3. What does the man mean?

A. He may change his lifestyle a bit.

B. He dislikes his math teacher.

C. He is not good at math.

4. How does the woman feel about her new job?

A. She’s satisfied with it. B. She isn’t used to it. C. She likes the training.
5. Who i1s Barbara?

A. The man’s friend. B. The woman’s friend. C. The woman’s sister
sERR - 117 - 3
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Wr s 6 Bekip, [M&% 6 2 7 &,

6. How much is the man’s car?

A. $12,500. B. $24,500.
7. How did the man usually go to work before?

A. By train. B. By bike.
WrEE 7 BodbRE, [MESE 8 2 9 M.

8. What is the man going to do?
A. Pick up his mum. B. Exercise.

9. What can we learn from the conversation?

A. The woman’s mum is coming. B. The woman’s sister is coming.

C. The man’s mum is coming.
W s 8 BeAf bk, &5 10 2 12 @,
10. What’s the probable relationship between the two speakers?
A. Teacher and student. B. Former colleagues.

11. What do we know about the woman?

A. She’s still single. B. She’s good at sewing.

C. She enjoys going to school.
12. What is the man’s wife studying now?
A. Typing. B. French.
Wr s 9 Bobbkl, 1255 13 2 16 /&,
13. What does the woman usually have for breakfast at home?
A. Some toast. B. A boiled egg.
14. Why do the two speakers have this trip?
A. To have a honeymoon. B. To go shopping.
15. What does the woman think of the man?
A. Lazy. B. Considerate.
16. What will the woman do next?
A. Eat something. B. Have a shower.
Wr%E 10 Bedr okl &5 17 2 20 f3,
17. What is the text mainly about?
A. A greenhouse plan for the Moon.
B. Food for astronauts on the Moon.
C. The great contribution of US scientists.
18. How long is the life cycle of cabbages on the Moon?

A. One night. B. One week.
19. How many years old is the South Pole greenhouse?
A. Four. B. Five.
20. Who’s Jane Poynter?
A. An astronaut. B. A scientist.
"“w?%\,,:

C. $10. 000.

C. By bus.

C. Go out for lunch.

C. Schoolmates.

C. Cooking.

C. A cup of milk,

C. To relax.

C. Interesting.

C. Do some cleaning.

C. Two weeks.

C. Six.

C. A boss.
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1. What is the relationship between the speakers?

A. Mother and son. B. Husband and wife. C. Friends.
2. What is the relationship between the speakers?
A. Workmates. B. Husband and wife.

C. Shop assistant and customer.
3. What is the relationship between the speakers?

A. Band members. B. Musician and fan. C. Hostess and guest.
4. What’s the probable relationship between the man and the woman?

A. Husband-Wife. B. Boss-Secretary. C. Customer-Waitress.
5. What’s the relationship between the two speakers?

A. Policeman and witness. B. Waiter and customer. C. Doctor and patient.
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1. What are the two speakers talking about?

A. Study. B. Hometown. C. Weather.
2. How does the man feel about the final exam?

A. Tt is important. B. It is difficult. C. It has only one page.
3. What does the man mean?

A. He’s confident he’ll get the job.

B. His chance of getting the job is slim.

C. The interview didn’t go as well as he expected.

4, When will the two speakers meet?

A. At 8.00. B. At 7.15. C. At 5.:45.
5. Who is Judy probably?
A. The man’s former schoolmate. B. The man’s former colleague.

C. The man’s former neighbor.
& (3 15 NTGAE/NE 1.5 48,54 22.5 40
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6. What seems to be the woman’s problem?

A. She didn’t feel well. B. She lost her wallet. C. Her car broke down.
P
RERMR - 119 - < 8



F—#4S RUREMLINZ TING LI WEI K

—S GRG0 e N 08

7. Where is the woman going now?
A. To the hospital. B. To her home. C. To a taxi company.
Wree 7 Bkl B 8 & 9,
8. How did the woman learn Japanese?
A. She once went to Japan. B. She learnt it in school.
C. She learnt it from her father.
9. How long has the woman been in China?
A. For 30 years. B. For 20 years. C. For 25 years.
W s 8 BeAf bk, &5 10 2 12 @,
10. What is the man complaining about?
A. There is too much dust. B. There is too much noise. C. There is too much traffic.
11. What do we know about the road near the man’s house?
A. Its condition is not good.
B. It has completed the construction.
C. It is being constructed.
12. What suggestion does the woman give to the man?
A. Showing the truth to the media.
B. Holding a neighborhood meeting.
C. Collecting money for the construction.
Wr s 9 Bobbkl, 1255 13 2 16 /&,
13. What are the two speakers mainly talking about?
A. How to answer customers’phone calls properly.
B. How to sell the products of their company.
C. How to deal with difficult callers.
14. What’s the probable relationship between the two speakers?
A. Couple. B. Colleagues. C. Classmates.
15. What kind of company Diana is?
A. Food. B. Tour. C. Clothing.
16. How is the woman required to end a call?
A. By offering something that sounds interesting.
B. By writing down customers’names.
C. By promising to do something.
Wr %8 10 Bedtokl, IS 17 & 20 /3.,
17. How much did the speaker spend on the Grand Voyager tour?
A. $2,000. B. $3,000. C. $4,000.
18. What was the speaker doing in a waiting room?
A. She was listening to some music.
B. She was taking some photos.
C. She was seeing a movie.
19. Where did the speaker start on the one-hour flight tour?
A. From Hoover Dam.
B. From the great Colorado River.
C. From the south of the canyon.
20. Which of the following did the speaker have during the tour?
A. Some hot drinks. B. A sandwich. C. A piece of bread.
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1. Who is the man?

A. A reporter. B. A waiter. C. A secretary.
2. What is the woman?

A. A nurse. B. A doctor. C. A receptionist.
3. Who could the man most likely be?

A. A salesman. B. A policeman. C. A postman.

4. Who is speaking to the woman?

A. Her teacher. B. Her husband C. Her boss.
5. What is the woman?
A. A teacher. B. A secretary C. An officer.
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1. What does Mary think of her job?

A. It’s good. B. It’s boring. C. It’s challenging.
2. What did Sally do last night?

A. Watched a movie. B. Called the man. C. Went out for fun.
3. Where will the woman go now?

A. Shanghai. B. Beijing. C. Shenzhen.
4. How much did the woman pay for the sweater?

A. £67. 50. B. £22. 50. C. £90.

5. What is the woman looking for?
A. Her credit card. B. Some postcarads. C. A birthday card.
EZWEE 15 /NE /MR 1.5 53,05 22.5 70)
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6. What’s wrong with the stereo?

A. It can’t play CDs. B. Its sound is too low. C. It makes a strange noise.
w’”‘“"a
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7. How would the man like his problem solved?
A. Having his money back. B. Having his stereo repaired.  C. Exchanging his stereo.
Wrsg 7 Bedp ok, m& S 8 2 10 .,

8. Where does the conversation probably take place?

A. In the office. B. In the school. C. On the phone.
9. How old was the woman when she left that Secondary school?
A.11. B. 17. C.18.

10. What does the woman want to do?
A. She wants to find an old friend of hers.
B. She wants to send David an email.
C. She wants to call David.
Wr s 8 Bebbkl, M58 11 2 13 /&,
11. What does Betty want?
A. Water. B. Fish. C. Mushrooms.
12. What can we know about Betty?

A. She isn’t hungry at all. B. She is picky about food. C. She is very ill.
13. What will they do next?
A. Go to another restaurant. B. Go on a boat trip. C. Go to the hotel.

Wy s 9 Beaf Rl &5 14 2 17 &,
14. What will the man do next?

A. Go to the drugstore. B. Have dinner. C. Take the subway.
15. What causes the man’s trouble?

A. The differences between languages.

B. Lack of experience abroad.

C. His poor expressions.
16. Where is the drugstore according to the woman?

A. On the first floor. B. On the second floor. C. On the fifth floor.
17. What do we know about the man?

A. He found the toilet easily.

B. He doesn’t speak English well.

C. He drives on the left of the road in his country.
Wr s 10 Bedh okl &5 18 2 20 /4,
18. When was the girl found?

A. At 1:00 a. m. B. At 1.:30 a. m. C.At 2:30 a. m.
19. Who brought the girl down from the tower?

A. A policeman. B. A fire fighter. C. A security guard.
20. What was the security guard doing when the girl climbed the tower?

A. He was walking. B. He was watching TV. C. He was sleeping.
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1. What is the woman doing?

A. Feeling sorry for not knowing the way.
B. Offering help.
C. Asking for further information.

2. Where does the man want to go?

A. His home. B. The lake. C. The baker’s.
3. How far must the woman walk to get to the Trade?
A. Five or six blocks. B. Five miles. C. Three blocks.

4. Where is the stadium?
A. No. 36 of the street.
B. On the right of the Central Park.
C. Opposite the park.
5. What does the man mean?
A. They want to go downtown.
B. He wants to go to the hotel, but she doesn’t.

C. He wants to find out where the hotel is.
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1. What does the man want to do?

A. Put up a notice. B. Join a club. C. Collect the notices.
2. When is Tom’s birthday?

A. On December 15th. B. On December 16th. C. On December 17th.
3. Where does the conversation probably take place?

A. In a post office. B. In a bank. C. In a photo shop.
4, What does the woman mean?

A. She will talk later. B. She won’t talk any more. C. The man should be patient.
5. Who is picking up the woman?

A. Her husband. B. Her secretary. C. Joanna’s husband.
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